Math 110 Common Exam #1
February 9, 2022
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Instructions: Show all work for full credit.
No outside materials or calculators allowed. 2
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for extra space. Clearly label when doing so. 3
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1. For each of the following functions state the requested information. If something is not
there, write “None”. Please write the domains and ranges in interval notation, and the
intercepts as “x = “or “y =". (6 pts each)

a.
hy
el |
(™ .  The domain
bt II.  Therange
AEFEEEEEN . All x—intercepts
| IV. Ally—intercepts
V.  All present asymptotes (x and/or y)
(NN VI.  Whether the function is increasing or decreasing
] (from left to right)
% -4 -2 2 4 6 x

I.  The domain
Il. Therange
lll.  All x—intercepts
IV. Ally—intercepts
V. All present asymptotes (x and/ory)
VI.  Whether the function is increasing or decreasing
(from left to right)

c. y=—-log,(x+5) C.
I.  The domain
II. Therange
lll.  All x—intercepts
IV. Ally—intercepts
V. All present asymptotes (x and/or y)

VI.  Whether the function is increasing or decreasing
(from left to right)




2. Find the equation of the graph in y = a - b* form. (4 pts)

3. Evaluate the following: (4 pts each)

a. log,p10

1
b. log11 a



4. Use the given information to find an expression for the question in terms of a
combination of the variables: (3 pts)

log, 4=U
log 9=V
log, 10=W

Find log , 600

5. Consider the function y = In(x — 10)

a. Find the inverse of the function. (3 pts)

b. Graph both the original function and its inverse on the same coordinate plane.
Be sure to label at least one identifying point on each function and any
asymptotes. (4 pts)



6. Graph the following; be sure to label any asymptotes AND at least 1 identifying point. (5
pts each)

a. y=e*%2+1

b. y=In(x—1)—-1

c. y=-2-(2)**

d. y=|In(x)]|



7. Solve the following for all solutions; identify any extraneous: (5 pts each)

1 4a+8 1

a —_ [

a? a? 3a2

b. loggx —logg(x +1) =2

c. In4+1In(2x—3) =1In38

d —-9-16Mm°=-34



8. Find the inverses of the following functions: (5 pts each)

a. y=1logs(x®>+6)+4

b. y =5In (—4x + 3)

c. y= (3}:6)1/2

1 X
9. Graph the following piecewise function 5 pts: y = {(5) X =0

3x , x>0



